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Clarify the concept of Gross National Product (GNP). State the methods to

calculate it.

OR

6.

Check the trends of GDP and Per Capita GDP of India since independence.

Explain the concept of Per capita Income.

OR

Explain the concept of Real Income and Money Income.

Explain the concept of Net Domestic Product.
OR

Explain sectoral composition of National Income..

Critically explain Fisher’s Equation of Exchange.
' OR

Discuss main components of money supply.

Explain meaning of Repo Rate & Reverse Repo Rate.

OR
Explain types of money.
Explain types of creﬁit.
OR
Explain the concept of High Powered Money.
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3. (a) Explain Keynesian Consumption function. Write determinants of consumption_
function. 6

OR
Describe Say’s Law of Market. Discuss Keynes’ criticism against it.
(b) Write factors determining effective demand. | 4
OR
Give the equation of Investment multiplier and its leakages in short.
(c) Explain Marginal Efficiency of Capital. 4
OR

Give the Keynesian Theory of Employment.

4. (a) Explain the liquidity preference theory of Keynes. 6
OR
Critically discuss anti-inflationary policies.

(b) Explain four phases of Business Cyele in short. | 4
OR
Explain cost pull inflation.’
(c) Briefly name the types of inflation. 4

Explain Loanable Fund theory of Interest.

5. Multiple Choice Questions : : 14
(1), Net National Product =
(@) Gross National Product — Capital Depreciation
(b) Gross Domestic Product + Taxes
(c) Gross Domestic Product + Subsidy

(d) Personal Income — Taxes
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(2) Share of which sector is decreasing in GDP with economic development ?

(a) Industry (b) Service

(¢) Primary (d) Industry and service
(3) Which rate can be calculated by the use of GDP deflator ?

(a) Consumption (b) Income growth

(c) Inflation-deflation (d) Production growth
(4) Broad money refers to

@ M, ) M

€ M, d M,
(5) Which bank perform the function of credit control in India ?

(a) AXIS (b) SBI

(c) DENA (d) RBI

(6) The cash balance equation stresses on which function of money ?
(a) Measure of value
(b) Store of value
(¢) Measure of deferred payment
(d) Medium of Exchange
(7) By which method Reserve Bank of India issue the legal money in the country ?

(a) Fixed Ratio Method (b) Equal Res:gt:ve Method
(c) Unequal Reserve Method (d) Minimum Rqservc Method
(8) According to Keynes, Income-employment is based on |
(a) effective demand s (b) production
(c) supply (d) trade
(9) * What will be the relation between investment and Marginal Efficiency of Capital
(MEC) ?
(a) Inverse (b) Variable
(c) Straight (d) None
(10) Marginal propensity to save (MPS) + Marginal Propensity to Consume (MPC) =
(@) Zero ®) -1
(c) 100 @ 1
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(11) Which of the following is a measure of monetary policy ?

(a) Public Debt - (b) Public Expenditure
| (c) Social Cost (d) Cash Reserve Ratio
(12) Due to inflation. the external value of money will |

(a) remain constant (b) ~decrease

(c) increase (d) not get affected
(13) What is the relation between interest rate and price of securities ?
| (a) Correlation (b) Caéual |

(¢) Inverse (d) None

(14) What iaﬁthe relation between rate of interest and de ?

(a) Equal ® U | —

(c) Straight (d)
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